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put it back for measurements

ﬂeur..oo

; 10 10meg dec

print four v(10)

.plOt tran v(10)

modify rloed=10k

.generator freq=100 ampl=.01
.tran 0 .01 .0005

-fourier 100

m ‘ator freq=lk ampl=.Cl
0 .001 .00005
fourier 1k

-generator freq-10k ampl-.0!
.rran 0 .0001 .CO000S
.fourier 10k

T*** higher level

-Generator freq=iC¢ ampl-.GS
.ttar 0 .03 ,0005

Sfourier 100

aererator freqe=lk ampi-. C¢
rrar 0 001 . 00005
tutler Gk

-ovrerator freqe=lQk ampl«.3
“rer. 3 0001 .00C0CS
tuvrier 10k

w

Tt°* even higher level
-Flct tran vil0) (-10,10)

uenerator freq=100 amgi= . i
.fran 0 .0 .0005
-fourier 100

gererator fceqm=ik ampi«.)
-irar € .001 .009C5
focurier 1k

-qenerator freq=10k ampls=_1
-irarn 0 .0001 .00000S
-focrier 10k
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